

MAU23401: Advanced Classical Mechanics II

Homework 5 due 05/03/2021

Ruaidhrí Campion
19333850
SF Theoretical Physics

I have read and I understand the plagiarism provisions in the General Regulations of the University Calendar for the current year, found at <http://www.tcd.ie/calendar>.

I have completed the Online Tutorial in avoiding plagiarism 'Ready, Steady, Write', located at <http://tcd-ie.libguides.com/plagiarism/ready-steady-write>.

Problem 1.

(i)

$$\begin{aligned}x(\rho, \phi, z) &= \rho \cos \phi \\y(\rho, \phi, z) &= \rho \sin \phi \\z(\rho, \phi, z) &= z \\r(\rho, \phi, z) &= \sqrt{(z-a)^2 + \rho^2} \\L &= K - U \\L(x, y, z, r) &= \frac{m}{2} (\dot{x}^2 + \dot{y}^2 + \dot{z}^2) - \frac{kqQ}{r} - mgz \\L(\rho, \phi, z) &= \frac{m}{2} (\dot{\rho}^2 + \rho^2 \dot{\phi}^2 + \dot{z}^2) - \frac{kqQ}{\sqrt{(z-a)^2 + \rho^2}} - mgz\end{aligned}$$

```
Clear[z, ξ, η, x, y, z, r, ρ, φ]
x[t_] = ρ[t] Cos[φ[t]];
y[t_] = ρ[t] Sin[φ[t]];
r[t] = Sqrt[(z[t] - a)^2 + ρ[t]^2];
L = m/2 (D[x[t], t]^2 + D[y[t], t]^2 + D[z[t], t]^2) - k q Q / r[t] // FullSimplify
- k q Q / Sqrt[(a - z[t])^2 + ρ[t]^2] + 1/2 m (-2 g z[t] + z'[t]^2 + ρ'[t]^2 + ρ[t]^2 φ'[t]^2)
```

(ii)

$$\begin{aligned}\xi - \eta &= z + a \\z(\xi, \eta) &= \xi - \eta - a \\\xi + \eta &= r \\\sqrt{(z-a)^2 + \rho^2} &= \xi + \eta \\\rho^2 &= (\xi + \eta)^2 - (\xi - \eta - a)^2 \\\rho(\xi, \eta) &= 2\sqrt{(\xi - a)(\eta + a)}\end{aligned}$$

$$\sqrt{(\xi + \eta)^2 - (\xi - \eta - 2a)^2} \quad // \text{ FullSimplify}$$

$$2 \sqrt{-(a + \eta)(a - \xi)}$$

(iii)

$$L(\rho, \phi, z) = \frac{m}{2} (\dot{\rho}^2 + \rho^2 \dot{\phi}^2 + \dot{z}^2) - \frac{kqQ}{\sqrt{(z-a)^2 + \rho^2}} - mgz$$

$$L(\xi, \eta, \phi) = \frac{m}{2} \left(\frac{\dot{\xi}^2(\xi + \eta)}{\xi - a} + \frac{\dot{\eta}^2(\xi + \eta)}{\eta + a} + 4\dot{\phi}^2(\xi - a)(\eta + a) \right) - \frac{kqQ}{\xi + \eta} - mg(\xi - \eta - a)$$

$$\rho[\mathbf{t}_-] = 2 \sqrt{(\xi[\mathbf{t}] - a)(\eta[\mathbf{t}] + a)};$$

$$\mathbf{z}[\mathbf{t}_-] = \xi[\mathbf{t}] - \eta[\mathbf{t}] - a;$$

L // FullSimplify

$$- \frac{kqQ}{\sqrt{(\eta[\mathbf{t}] + \xi[\mathbf{t}])^2}} + \frac{1}{2} m \left(2g(a + \eta[\mathbf{t}] - \xi[\mathbf{t}]) + (\eta'[\mathbf{t}] - \xi'[\mathbf{t}])^2 + \frac{((-\mathbf{a} + \xi[\mathbf{t}]) \eta'[\mathbf{t}] + (\mathbf{a} + \eta[\mathbf{t}]) \xi'[\mathbf{t}])^2}{(\mathbf{a} + \eta[\mathbf{t}])(-\mathbf{a} + \xi[\mathbf{t}])} + 4(\mathbf{a} + \eta[\mathbf{t}])(-\mathbf{a} + \xi[\mathbf{t}]) \phi'[\mathbf{t}]^2 \right)$$

(iv)

$$H = p_i \dot{q}^i - L$$

$$= \frac{\partial L}{\partial \dot{q}^i} \dot{q}^i - L$$

$$= \frac{m}{2} \left(\frac{\dot{\xi}^2(\xi + \eta)}{\xi - a} + \frac{\dot{\eta}^2(\xi + \eta)}{\eta + a} + 4\dot{\phi}^2(\xi - a)(\eta + a) \right) + \frac{kqQ}{\xi + \eta} + mg(\xi - \eta - a)$$

$$p_\xi = \frac{\partial L}{\partial \dot{\xi}} = \frac{m\dot{\xi}(\xi + \eta)}{\xi - a} \implies \frac{\dot{\xi}^2(\xi + \eta)}{\xi - a} = \frac{p_\xi^2(\xi - a)}{m^2(\xi + \eta)}$$

$$p_\eta = \frac{\partial L}{\partial \dot{\eta}} = \frac{m\dot{\eta}(\xi + \eta)}{\eta + a} \implies \frac{\dot{\eta}^2(\xi + \eta)}{\eta + a} = \frac{p_\eta^2(\eta + a)}{m^2(\xi + \eta)}$$

$$p_\phi = \frac{\partial L}{\partial \dot{\phi}} = 4m\dot{\phi}(\xi - a)(\eta + a) \implies 4\dot{\phi}^2(\xi - a)(\eta + a) = \frac{p_\phi^2}{4m^2(\xi - a)(\eta + a)}$$

$$H(\xi, \eta, \phi, p_\xi, p_\eta, p_\phi) = \frac{p_\xi^2(\xi - a)}{2m(\xi + \eta)} + \frac{p_\eta^2(\eta + a)}{2m(\xi + \eta)} + \frac{p_\phi^2}{8m(\xi - a)(\eta + a)} + \frac{kqQ}{\xi + \eta} + mg(\xi - \eta - a)$$

$$H = D[L, \xi'[t]] \xi'[t] + D[L, \eta'[t]] \eta'[t] + D[L, \phi'[t]] \phi'[t] - L // \text{FullSimplify}$$

$$-a g m + \frac{k q Q}{\sqrt{(\eta[t] + \xi[t])^2}} +$$

$$\left(m \left((-a + \xi[t]) (2 g (a + \eta[t]) (\eta[t] - \xi[t]) - (\eta[t] + \xi[t]) \eta'[t]^2) - (a + \eta[t]) \right. \right.$$

$$\left. \left. (\eta[t] + \xi[t]) \xi'[t]^2 - 4 (a + \eta[t])^2 (a - \xi[t])^2 \phi'[t]^2 \right) \right) / (2 (a + \eta[t]) (a - \xi[t]))$$

$$K = \frac{1}{2} m \left(\frac{(\eta[t] + \xi[t]) \eta'[t]^2}{a + \eta[t]} - \frac{(\eta[t] + \xi[t]) \xi'[t]^2}{a - \xi[t]} - 4 (a + \eta[t]) (a - \xi[t]) \phi'[t]^2 \right);$$

$$U = - \left(g m (a + \eta[t] - \xi[t]) - \frac{k q Q}{\sqrt{(\eta[t] + \xi[t])^2}} \right);$$

$$L = K + U // \text{FullSimplify}$$

$$H = K - U // \text{FullSimplify}$$

0

0

$$D[L, \xi'[t]] // \text{FullSimplify}$$

$$D[L, \eta'[t]] // \text{FullSimplify}$$

$$D[L, \phi'[t]] // \text{FullSimplify}$$

$$- \frac{m (\eta[t] + \xi[t]) \xi'[t]}{a - \xi[t]}$$

$$\frac{m (\eta[t] + \xi[t]) \eta'[t]}{a + \eta[t]}$$

$$4 m (a + \eta[t]) (-a + \xi[t]) \phi'[t]$$

$$H = \frac{m}{2} \left(\frac{p_\xi^2 (\xi - a)}{m^2 (\xi + \eta)} + \frac{p_\eta^2 (\eta + a)}{m^2 (\xi + \eta)} + \frac{p_\phi^2}{4 m^2 (\xi - a) (\eta + a)} \right) + \frac{k q Q}{\xi + \eta} + m g (\xi - \eta - a) // \text{FullSimplify}$$

$$-g m (a + \eta - \xi) + \frac{k q Q}{\eta + \xi} + \frac{\frac{4 (a + \eta) p_\eta^2 + 4 (-a + \xi) p_\xi^2}{\eta + \xi} + \frac{p_\phi^2}{(a + \eta) (-a + \xi)}}{8 m}$$

(v)

$$\Phi \left(\mathbf{q}, \frac{\partial S}{\partial \mathbf{q}} \right) = \frac{\partial S}{\partial t} + H(\xi, \eta, \phi, p_\xi, p_\eta, p_\phi) = 0$$

$$f_t \left(t, \frac{\partial S}{\partial t} \right) = \frac{\partial S}{\partial t}$$

$$\implies S_t = -Et$$

$$-E + H = 0$$

$$\frac{p_\xi^2 (\xi - a)}{2m (\xi + \eta)} + \frac{p_\eta^2 (\eta + a)}{2m (\xi + \eta)} + \frac{p_\phi^2}{8m (\xi - a) (\eta + a)} + \frac{kqQ}{\xi + \eta} + mg (\xi - \eta - a) = E$$

$$\phi \text{ is cyclic} \implies p_\phi = \alpha_\phi, S_\phi = \alpha_\phi \phi$$

$$\frac{p_\xi^2 (\xi - a)}{2m (\xi + \eta)} + \frac{p_\eta^2 (\eta + a)}{2m (\xi + \eta)} + \frac{\alpha_\phi^2}{8m (\xi - a) (\eta + a)} + \frac{kqQ}{\xi + \eta} + mg (\xi - \eta - a) = E$$

$$\left(mg\xi^2 - mga\xi + \frac{p_\xi^2 (\xi - a)}{2m} + \frac{\alpha_\phi^2}{\xi - a} - E\xi \right) + \left(-mg\eta^2 - mga\eta + \frac{p_\eta^2 (\eta + a)}{2m} + \frac{\alpha_\phi^2}{\eta + a} - E\eta + kqQ \right) = 0$$

$$f_\xi = mg\xi^2 - mga\xi + \left(\frac{\partial S}{\partial \xi} \right)^2 \frac{\xi - a}{2m} + \frac{\alpha_\phi^2}{\xi - a} - E\xi = \alpha_\xi$$

$$\frac{\partial S}{\partial \xi} = \sqrt{\frac{2m}{\xi - a} \left(\alpha_\xi - mg\xi^2 + mga\xi - \frac{\alpha_\phi^2}{\xi - a} + E\xi \right)}$$

$$S_\xi = \int_{\xi_0}^{\xi} \sqrt{\frac{2m}{\xi' - a} \left(\alpha_\xi - mg\xi'^2 + mga\xi' - \frac{\alpha_\phi^2}{\xi' - a} + E\xi' \right)} d\xi'$$

$$f_\eta = -mg\eta^2 - mga\eta + \left(\frac{\partial S}{\partial \eta} \right)^2 \frac{\eta + a}{2m} + \frac{\alpha_\phi^2}{\eta + a} - E\eta + \alpha_\eta + kqQ = \alpha_\eta$$

$$\text{Similarly, } S_\eta = \int_{\eta_0}^{\eta} \sqrt{\frac{2m}{\eta' + a} \left(\alpha_\eta + mg\eta'^2 + mga\eta' - \frac{\alpha_\phi^2}{\eta' + a} + E\eta - \alpha_\xi - kqQ \right)} d\eta'$$

$$S(\xi, \eta, \phi, t) = -Et + a_\phi \phi + \int_{\xi_0}^{\xi} \sqrt{\frac{2m}{\xi' - a} \left(\alpha_\xi - mg\xi'^2 + mga\xi' - \frac{\alpha_\phi^2}{\xi' - a} + E\xi' \right)} d\xi'$$

$$+ \int_{\eta_0}^{\eta} \sqrt{\frac{2m}{\eta' + a} \left(\alpha_\eta + mg\eta'^2 + mga\eta' - \frac{\alpha_\phi^2}{\eta' + a} + E\eta - \alpha_\xi - kqQ \right)} d\eta'$$

$$(\xi + \eta) \left(\frac{p_\xi^2 (\xi - a)}{2m (\xi + \eta)} + \frac{p_\eta^2 (\eta + a)}{2m (\xi + \eta)} + \frac{\alpha_\phi^2}{8m (\xi - a) (\eta + a)} + \frac{kqQ}{\xi + \eta} + mg (\xi - \eta - a) \right) // \text{Expand} //$$

FullSimplify

$$kqQ - gm(a + \eta - \xi)(\eta + \xi) + \frac{4(a + \eta)p_\eta^2 + 4(-a + \xi)p_\xi^2 - \frac{(\eta + \xi)\alpha_\phi^2}{(a + \eta)(a - \xi)}}{8m}$$

Problem 2.

(i)

$$x(\rho, \phi, z) = \rho \cos \phi$$

$$y(\rho, \phi, z) = \rho \sin \phi$$

$$z(\rho, \phi, z) = z$$

$$r_1(\rho, \phi, z) = \sqrt{(z + a)^2 + \rho^2}$$

$$r_2(\rho, \phi, z) = \sqrt{(z - a)^2 + \rho^2}$$

$$L = K - U$$

$$L(x, y, z, r_1, r_2) = \frac{m}{2} (\dot{x}^2 + \dot{y}^2 + \dot{z}^2) + \frac{A}{r_1} + \frac{B}{r_2}$$

$$L(\rho, \phi, z) = \frac{m}{2} (\dot{\rho}^2 + \rho^2 \dot{\phi}^2 + \dot{z}^2) + \frac{A}{\sqrt{(z + a)^2 + \rho^2}} + \frac{B}{\sqrt{(z - a)^2 + \rho^2}}$$

```

Clear[z, ξ, η, x, y, z, r, ρ, ϕ]
x[t_] = ρ[t] Cos[ϕ[t]];
y[t_] = ρ[t] Sin[ϕ[t]];
r1[t_] = Sqrt[(z[t] + a)^2 + ρ[t]^2];
r2[t_] = Sqrt[(z[t] - a)^2 + ρ[t]^2];
L = m/2 (D[x[t], t]^2 + D[y[t], t]^2 + D[z[t], t]^2) + A/r1[t] + B/r2[t] // FullSimplify
B/Sqrt[(a - z[t])^2 + ρ[t]^2] + A/Sqrt[(a + z[t])^2 + ρ[t]^2] + 1/2 m (z'[t]^2 + ρ'[t]^2 + ρ[t]^2 ϕ'[t]^2)

```

(ii)

$$\begin{aligned}
 \xi + \eta &= r_1 & \xi - \eta &= r_2 \\
 z(\xi, \eta) &= \frac{\xi \eta}{a} & \rho(\xi, \eta) &= \frac{\sqrt{(\xi^2 - a^2)(a^2 - \eta^2)}}{a} \\
 \xi &\in [a, \infty) & \eta &\in [-a, a]
 \end{aligned}$$

$$\text{Solve}\left[\xi[t] == \frac{r1[t] + r2[t]}{2} \&\& \eta[t] == \frac{r1[t] - r2[t]}{2}, \{\rho[t], z[t]\}\right]$$

$$\left\{ \left\{ \rho[t] \rightarrow -\frac{\sqrt{a^2 - \eta[t]^2} \sqrt{a^2 - \xi[t]^2}}{a}, z[t] \rightarrow \frac{\eta[t] \times \xi[t]}{a} \right\}, \right.$$

$$\left. \left\{ \rho[t] \rightarrow \frac{\sqrt{a^2 - \eta[t]^2} \sqrt{a^2 - \xi[t]^2}}{a}, z[t] \rightarrow \frac{\eta[t] \times \xi[t]}{a} \right\} \right\}$$

(iii)

$$\begin{aligned}
 L(\rho, \phi, z) &= \frac{m}{2} (\dot{\rho}^2 + \rho^2 \dot{\phi}^2 + \dot{z}^2) + \frac{A}{\sqrt{(z+a)^2 + \rho^2}} + \frac{B}{\sqrt{(z-a)^2 + \rho^2}} \\
 L(\xi, \eta, \phi) &= \frac{m}{2} \left(\frac{\dot{\xi}^2 (\xi^2 - \eta^2)}{\xi^2 - a^2} + \frac{\dot{\eta}^2 (\xi^2 - \eta^2)}{a^2 - \eta^2} + \frac{\dot{\phi}^2 (\xi^2 - a^2)(a^2 - \eta^2)}{a^2} \right) + \frac{A}{\xi + \eta} + \frac{B}{\xi - \eta}
 \end{aligned}$$

$$\rho[t_] = \frac{\sqrt{(\xi[t]^2 - a^2)(a^2 - \eta[t]^2)}}{a};$$

$$z[t_] = \frac{\xi[t] \times \eta[t]}{a};$$

```
L // FullSimplify
```

$$\begin{aligned}
 &\frac{B}{\sqrt{(\eta[t] - \xi[t])^2}} + \frac{A}{\sqrt{(\eta[t] + \xi[t])^2}} - \\
 &\frac{m (\eta[t]^2 - \xi[t]^2) ((a^2 - \xi[t]^2) \eta'[t]^2 + (-a^2 + \eta[t]^2) \xi'[t]^2)}{2 (a^2 - \eta[t]^2) (a^2 - \xi[t]^2)} - \frac{m (a^2 - \eta[t]^2) (a^2 - \xi[t]^2) \phi'[t]^2}{2 a^2}
 \end{aligned}$$

(iv)

$$H = \frac{\partial L}{\partial \dot{q}^i} \dot{q}^i - L$$

$$= \frac{m}{2} \left(\frac{\dot{\xi}^2 (\xi^2 - \eta^2)}{\xi^2 - a^2} + \frac{\dot{\eta}^2 (\xi^2 - \eta^2)}{a^2 - \eta^2} + \frac{\dot{\phi}^2 (\xi^2 - a^2) (a^2 - \eta^2)}{a^2} \right) - \frac{A}{\xi + \eta} - \frac{B}{\xi - \eta}$$

$$p_\xi = \frac{\partial L}{\partial \dot{\xi}} = \frac{m \dot{\xi} (\xi^2 - \eta^2)}{\xi^2 - a^2} \quad \Rightarrow \quad \frac{\dot{\xi}^2 (\xi^2 - \eta^2)}{\xi^2 - a^2} = \frac{p_\xi^2 (\xi^2 - a^2)}{m^2 (\xi^2 - \eta^2)}$$

$$p_\eta = \frac{\partial L}{\partial \dot{\eta}} = \frac{m \dot{\eta} (\xi^2 - \eta^2)}{a^2 - \eta^2} \quad \Rightarrow \quad \frac{\dot{\eta}^2 (\xi^2 - \eta^2)}{a^2 - \eta^2} = \frac{p_\eta^2 (a^2 - \eta^2)}{m^2 (\xi^2 - \eta^2)}$$

$$p_\phi = \frac{\partial L}{\partial \dot{\phi}} = \frac{m \dot{\phi} (\xi^2 - a^2) (a^2 - \eta^2)}{a^2} \quad \Rightarrow \quad \frac{\dot{\phi}^2 (\xi^2 - a^2) (a^2 - \eta^2)}{a^2} = \frac{p_\phi^2 a^2}{m^2 (\xi^2 - a^2) (a^2 - \eta^2)}$$

$$H(\xi, \eta, \phi, p_\xi, p_\eta, p_\phi) = \frac{p_\xi^2 (\xi^2 - a^2)}{m^2 (\xi^2 - \eta^2)} + \frac{p_\eta^2 (a^2 - \eta^2)}{m^2 (\xi^2 - \eta^2)} + \frac{p_\phi^2 a^2}{m^2 (\xi^2 - a^2) (a^2 - \eta^2)} - \frac{A}{\xi + \eta} - \frac{B}{\xi - \eta}$$

H = D[L, ξ′[t]] ξ′[t] + D[L, η′[t]] η′[t] + D[L, ϕ′[t]] ϕ′[t] - L // FullSimplify

$$\frac{1}{4} \left(- \frac{4 B}{\sqrt{(\eta[t] - \xi[t])^2}} - \frac{4 A}{\sqrt{(\eta[t] + \xi[t])^2}} + \frac{2 m (-\eta[t]^2 + \xi[t]^2) \eta'[t]^2}{a^2 - \eta[t]^2} + \frac{2 (a^2 m (\eta[t]^2 - \xi[t]^2) \xi'[t]^2 - m (a^2 - \eta[t]^2) (a^2 - \xi[t]^2)^2 \phi'[t]^2)}{a^4 - a^2 \xi[t]^2} \right)$$

$$K = - \frac{m \left(\eta[t]^2 - \xi[t]^2 \right) \left(\left(a^2 - \xi[t]^2 \right) \eta'[t]^2 + \left(-a^2 + \eta[t]^2 \right) \xi'[t]^2 \right)}{2 \left(a^2 - \eta[t]^2 \right) \left(a^2 - \xi[t]^2 \right)} - \frac{m \left(a^2 - \eta[t]^2 \right) \left(a^2 - \xi[t]^2 \right) \phi'[t]^2}{2 a^2};$$

$$U = - \left(\frac{B}{\sqrt{\left(\eta[t] - \xi[t] \right)^2}} + \frac{A}{\sqrt{\left(\eta[t] + \xi[t] \right)^2}} \right);$$

L - K + U // FullSimplify

H - K - U // FullSimplify

0

0

D[L, ξ'[t]] // FullSimplify

D[L, η'[t]] // FullSimplify

D[L, ϕ'[t]] // FullSimplify

$$\frac{m \left(\eta[t]^2 - \xi[t]^2 \right) \xi'[t]}{a^2 - \xi[t]^2}$$

$$\frac{m \left(-\eta[t]^2 + \xi[t]^2 \right) \eta'[t]}{a^2 - \eta[t]^2}$$

$$\frac{m \left(a^2 - \eta[t]^2 \right) \left(-a^2 + \xi[t]^2 \right) \phi'[t]}{a^2}$$